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oH DO BOD SS KIFEHK
(mg/1) (mg/) (mg/1) | (MPN/100ml)
EE(E] 65~85] 75LLF | 20LLF | 25LLF | 1000LLF
EHE(75%1E) - 8.1 0.5(0.5) 1 1100
48] 82 8.2 <05 2 9
6A] 76 8.1 0.6 1 240
sAl 72 85 05 <1 930
108 7.7 6.4 05 <1 4600
12| 80 8.3 05 2 93
2A] 73 9.3 <05 <1 460
BFEER
NI INESDS £n ANEvAaL mE fKER 7L ILKEE
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
HEAE(E] 0.01LLF | JE#RHE | 0.01LLF [0.058LF | 0.01LLF [ 0.0005ELF
EH{E]  <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
48] <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
68| <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
8AH - - - - - - -
108]| <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
128]| <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
2R - - - - - - -
ooand ... |1,.2-020[1,1->5an[>A-1,2->508[1,1,1-~F)50
PCB g, | PEERR | DT | zFELY OTFLY OT4y
(mg/l) | (mg/I) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
BEAEE] ERE [0.02LLF | 0.002LLF [0.004LLF] 0.02LLF [ 0.04LLF 1LF
SEHfE] <0.0005 | <0.002 | <0.0002 | <0.0004 | <0.002 <0.004 <0.01
48[ <00005 | <0002 | <0.0002 | <0.0004 | <0.002 <0.004 <0.01
6 A| <00005 | <0002 | <0.0002 | <0.0004 | <0.002 <0.004 <0.01
sAl - - - - - - -
108 <0.0005 | <0.002 | <0.0002 | <0.0004 | <0.002 <0.004 <0.01
128 <0.0005 | <0.002 | <0.0002 | <0.0004 | <0.002 <0.004 <0.01
27 - - - - - - -
1,1,2-ky4 [FUoAR|FrSY00I(1,3-290A — . —sen FARA
Aoxsy | TFLY | FLr  |pFaky FOIL| YRDY )%
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
H#(E]0.006 L F[0.03LLF | 0.01LLF [0.002LLF[0.006 L F| 0.003LLF [ 0.02LLF
SEHfE] <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
4A[ <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
6 Al <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
8AH - - - - - - -
108]| <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
12 8] <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
2R - - - - - - -




HEBNEREY

(mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
HEAE{E] 001LLTF 10.01LLF 10LLF 0.8LLF 1LLF
Eiy <0.001 0.002 0.21 0.8 2.1
4H| <0.001 <0.001 0.23 1.1 3.0
6H| <0.001 0.003 0.19 0.5 1.2
8H - - - - -
10H] <0.001 <0.001 0.15 0.7 1.9
12H] <0.001 <0.001 0.26 0.9 1
2R - - - - -
EDHIEE
N e 2EX | &% @ | 2@m | sootus [TV
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
TH{E - 0.27 0.020 <0.04 <0.005 <0.001 <0.008
4R - 0.23 0.037 <0.04 <0.005 <0.001 <0.008
64 - 0.28 0.014 <0.04 <0.005 <0.001 <0.008
8H - 0.28 0.008 <0.04 <0.005 - -
10H - 0.21 0.033 <0.04 <0.005 <0.001 <0.008
12H - 0.26 0.011 <0.04 <0.005 <0.001 <0.008
28 - 0.33 0.015 <0.04 <0.005 — —
BiLH WA | B s Repp——
IT/=| kS coD el > AE EXizER
(mg/D) | (mg/I) (mg/1) (mg/1) (mg/1) (BF) (uS/cm)
EHE]  <0.02 13000 1.0 <0.01 0.01 - 16000
4H| <0.02 17000 1.4 <0.01 0.01 - 4100
6H| <0.02 6900 1.2 <0.01 0.01 - 18000
8H - - 0.8 - <0.01 - 8900
10H]| <0.02 18000 0.8 <0.01 0.02 - 27000
12H]| <0.02 11000 1.1 <0.01 <0.01 - 26000
2R - - 0.5 — 0.01 — 9800




TERR19EE
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Xz |KURCC)| KE(C) | HFEUKZE| iR =Xz R
4K g 15.5 15.5 == B i) mE
6 H i 275 245 x[E B ) EmR
8H = 29.0 24.0 x[E B ) mR
104 = 23.0 25.0 x[E B A mR
128 B 14.0 15.0 == B i) wmE
2A| = 10.0 13.0 = B B w5
4ERIRIEAR _
oH DO BOD SS PN FEE
(mg/1) (mg/I) (mg/1) | (MPN/100ml)
EHIE(75%IE) - 8.0 0.7(0.8) 2 210
48] 71 9.9 <0.5 2 200
6A| 81 8.0 0.8 2 43
8A| 82 6.8 1.0 3 23
10A] 80 74 0.6 2 460
128 82 8.2 <0.5 2 460
2H 8.1 7.7 0.7 <1 43
BEER
GININE DS $h ANoOL  HE #ikEE |7 Fkeg
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| EZE| 001LT | e | 001LLF [0.05LATF | 0.01L4F | 0.0005LAF [ ZEfRH |
E3 5] <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
48] <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
6A| <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
8AH - - - - - - -
108 <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
128 <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
24 = = = = = = =
o004 pwe |1.2-070(11-0500(22-1,2-0450(1,1,1-k) 50
PCB 5 mELRE | D0 | TE Ly NTFLe R,
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
E#e(E] FERH [0.02L0LTF | 0.002LLF [0.004LLF| 0.02LLF |  0.04LLF 1LF
T15{E] <0.0005 | <0.002 <0.0002 [ <0.0004 | <0.002 <0.004 <0.01
48] <0.0005 | <0.002 <0.0002 [ <0.0004 | <0.002 <0.004 <0.01
6A| <0.0005 [ <0.002 <0.0002 | <0.0004 | <0.002 <0.004 <0.01
8AH - - - - - - -
10A] <0.0005 | <0.002 <0.0002 | <0.0004 | <0.002 <0.004 <0.01
12A8] <0.0005 | <0.002 <0.0002 | <0.0004 | <0.002 <0.004 <0.01
24 = = = = = = =
1,1,2-ky4 [FUZAAR|FRSY00I(1,3-290A — . —see FARA
aaIsy | TFLY FLY oroRy Fo5L PE 2% %
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
H#{E10.006 L 0.03LLF | 0.01LLF [0.002LLF[0.006LLF| 0.003LLF 0.02LLF
E15{E] <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
48] <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
6A| <0.0006 [ <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
8AH - - - - - - -
10A] <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
12A8] <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
24 = = = = = = =




HEBEEREY

(mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EEME] 001LLF [001LLF| 10UF 0.8LLF 1LLF
EH{E]  <0.001 0.001 0.20 1.0 2.6
4H] <o0.001 <0.001 0.26 0.2 0.2
6A] <0.001 0.001 0.19 1.2 3.5
8H - - - - -
10H] <0.001 <0.001 0.15 3.6
12H] <0.001 <0.001 0.18 3.1
2R - - - - -
EDHIEE
N SR | 28 @ | 2@m | santus | LTV
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
TH{E - 0.21 0.020 <0.04 <0.005 <0.001 <0.008
4A - 0.32 0.019 <0.04 <0.005 <0.001 <0.008
64 - 0.19 0.018 <0.04 <0.005 <0.001 <0.008
8H - 0.22 0.023 <0.04 <0.005 - -
10H - 0.15 0.019 <0.04 <0.005 <0.001 <0.008
12H - 0.18 0.015 <0.04 <0.005 <0.001 <0.008
2R - 0.18 0.026 <0.04 <0.005 — —
BieH WA | YR s Repp——
IT/=| xS cobD el > AE EXizER
(mg/D) | (mg/I) (mg/1) (mg/1) (mg/1) (BF) (uS/cm)
EHE]  <0.02 12000 1.7 <0.01 - - 34000
4H| <0.02 1300 <0.5 <0.01 - - 420
6A] <0.02 18000 2.2 <0.01 - - 42000
8H - - 2.1 - - - 38000
10H]| <0.02 10000 0.9 <0.01 - - 44000
12H]| <0.02 17000 3.1 <0.01 - - 40000
2R - - 1.2 - — — 42000




